
I.D.:	42779800

Piese	de	schimb	pentru	autovehicule

Data
publicarii

14.05.19 Coduri	CPV 34300000-0

Pretul
estimativ:

3.745,65	RON	-	3.745,65	RON 	 	

Descriere: Lichid	frana	Dot4	o,9L,	ulei	motor	Agip	20W50	1L,	vaselina	tub	400gr.,	banda	izolatoare,
manusi	pelicula	cauciuc,	gresor	M10	drept,	gresor	M8	H1,	ulei	servodirectie	1L,	vaselina
LiCa3	0.9kg.,	surub	sasiu	M14x80,	surub	sasiu	M16x80,	piulita	sasiu	M14,	M16,	ulei	motor
M40	S2	1L,	ulei	hidr.	H46	1L,	bolt	tirant	central,	silicon	universal	280ml.	Bison,	supapa
presiune	ulei	U650,	saiba	Cu	fi	28,	supapa	monobloc,	disc	flex	fi	230,	disc	flex	fi	125,
vaselina	LiCa3	5kg.,	silicon	rosu	temp.	Bison	280ml.,	surub	cap	hex.	M10,	piulita	hex.	M10,
ulei	hidr.	H46	5L,	cheie	combinata	M10,	set	perii	flex,	set	corzi	prindere	bagaje,	lampa
combinata	spate	LT50,	lampa	numar	LSP1,	lampa	gabarit	DLG003.6,	cupla	aer	ulei	ungere
lant	1L,	captator	aer	praf	U650,	cablu	tractiune	otel	compactizat	fi	13mm	(70m),	saiba	Cu
fi16,	ulei	transmisie	T90	1L,	syurub	cap	hex.	M8x40,	saiba	plata	speciala	fi8,	piulita	cu
autoblocare	M8,	ulei	transmisie	T90	10L,	manusi	pelicula	din	poliuretan	asta	spalat	maini
Ultraderm	400gr.,	solutie	curatat	motorul	Moje	1L,	bara	tecamid	fi80mm	1cml.,	Bison	wepoxy
metal	adeziv	lipit,	colier	32-50,	baterie	filtru	motorina	cu	amorsare,	furtun	alimentare	R+R
L1000mm,	manusi	pelicula	poliutretan,	saiba	Cu	fi14,	pompa	gresat	(decalimetru),	ulei
motor	Aral	15W40	1L,	surub	cap	hex.	M12x80,	disc	curatat	rugina,	ulei	transmisie	T90	1L,
piulita	hex.	M12,	surub	cap	hex.	M14x60,	piulita	hex.	M14,	spray	antirugina,	contact	cheie
Raba,	surub	trecere	M14,	colier	plastic,	ulei	hidr.	H46	1L,	furtun


